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@ The number of terms of the series: 5 + 7 + 9 +.... must be taken so
that the sum may be 480 [ July 2021]




If the sum of ‘n’ terms of an AP (Arithmetic Progression) is 2n?, the
fifth term is [July 2021)
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@ The sum of square of any real positjl\fe quantity and its reciprocal is L
never less that G ] 7/@\)1_ [July 2021] 500
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@ If the sum and products of three numbers in G.P. are 7 and 8 respectively,
then 4th term of the series is
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@ The sum of first n terms of an AP isgn2 + 5n. The series is:
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@ The largest value of n for which ~ =ty + — < 0.998 is.. \;}é |
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If the nth term of the arithmetic progression 9, 7, 5...... IS same as

the nth term of the arithmetic progression 15, 12,9....... , then n will
be
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In a geometric progression, the second term is 12 and the sixth

term is 192. Find the 11 term.
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@ The first and last terms of an arithmetic progression are 5 and u
905. Sum of the terms is 45, 955. The number of terms is
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The sum of first eight terms of geometric progression is five times U
the sum of the first four terms. The common ratio is
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@ If pt* term of an AP is q and its q'* term is p, when what will be the
value of (p + q)* term ?
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InaG.P.=5"termis 27 and 8 term is 729. Find its 11 term.
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1f9th and 19th term of an Arithmetic Progression are 35 and 75
respectively then |te.r20T term |sf o= to?O: —t\% g =S4z l::_o“qu-
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How many numbers between 74 and 25,556 are divisible by 5 ?
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m If 4th , 7t and 10 terms of a Geometric Progressions are p,q and r,
respectively, then
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